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QUESTION 1

Which are three characteristics of an iSCSI or FCP SAN implementation? (Choose three.) 

A. A LUN can be converted into a VLD. 

B. LUNs can be accessed using the FCP protocol. 

C. LUNs can be accessed using the iSCSI protocol. 

D. Block services are associated with an iSCSI or FCP SAN environment. 

Correct Answer: BCD 

 

QUESTION 2

For access to a VMFS datastore created on a NetApp LUN on an ESX 4.0 system for an ALUA configuration, the path
selection policy should be set to: 

A. MRU (Most Recently Used) 

B. Fixed 

C. RR (Round Robin) 

D. ALUA 

Correct Answer: C 

 

QUESTION 3

Which storage system combination is supported in Cluster-Mode? 

A. a pair of FAS3270s and a pair of FAS3020s 

B. a pair of FAS3270s with a FAS3240 and a FAS6240 

C. a pair of FAS6280s and a pair of E7900s 

D. a pair of FAS6280s and a pair of FAS3240s 

Correct Answer: D 

 

QUESTION 4

Which NetApp Storage Tier component works aggregate-wide on a FAS controller? 

A. Flash Pool 
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B. Flash Disk 

C. Flash Cache 

D. Flash Accel 

E. Flash IO 

Correct Answer: A 

 

QUESTION 5

In a NetApp SAN solution, which value should you set for snap reserve for a volume holding LUNs? 

A. 100% 

B. 50% 

C. 20% 

D. 0% 

Correct Answer: D 

 

QUESTION 6

Which statement is correct regarding virtual machine alignment on VMware ESX? 

A. Alignment issues can occur on any protocol including FCP, iSCSI, FCoE, and NFS. 

B. Windows RDM LUNs on NetApp suffer from alignment problems because they are accessed directly by VMs. 

C. A VMIS I UN with a LUN type of VMware, will always have properly aligned VMs. 

D. msinfo32 or mbrscan can be run for the ESX service console to check for proper alignment of VMs. 

Correct Answer: A 

 

QUESTION 7

Node 1 in a clustered pair detects that it has lost connectivity to one of its disk shelves. Node 1 is still up, but it cannot
see one of its disk shelves. However, the partner node, Node 2, can see all of the Node 1\\'s disk shelves. Which
feature will cause Node 2 to monitor this error condition for a period of three minutes by default, and then forcibly take
over Node 1 if the error condition persists? 

A. Auto enable of giveback 

B. Negotiated Fail Over 

C. Takeover on panic 
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D. Cf.quickloop.enable 

Correct Answer: B 

 

QUESTION 8

A FAS6280 running ONTAP 8.0.2P1 has a 32-bit root aggregate. After upgrading to Data ONTAP 8.1, what is the status
of the root aggregate? 

A. The root aggregate remains 32-bit. 

B. The root aggregate converts from 32 to 64-bit in place. 

C. The root aggregate auto-migrates to a new 64-bit aggregate. 

D. The upgrade fails with a message to create a new 64-bit aggregate before upgrade. 

Correct Answer: A 

 

QUESTION 9

Which components must you configure when configuring CHAP to be used with iSCSI? 

A. host, Ethernet switch, storage controllers 

B. host and storage controllers only 

C. host only 

D. storage controllers only 

Correct Answer: B 

 

QUESTION 10

What are two possible impacts to consider when changing the cfmode to single_image?. (Choose two.) 

A. There more paths to LUNs. 

B. Target port WWPNs will change on at least one controller. 

C. You must use hard zoning (zoning by ports). 

D. There are fewer paths to LUNs. 

E. hosts running Solaris since it does not support single_image cfmode 

Correct Answer: AB 
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QUESTION 11

When adding expansion FC adapter cards to NetApp controllers running ONTAP 8.1 Cluster Mode or above, which
resource should be consulted for optimum placement of the new cards in the controller slots? 

A. Hardware Universe Tool accessed from support.netapp.com 

B. Data ONTAP product documentation release notes on the NOW site 

C. Interoperability Matrix Tool 

D. Data ONTAP SAN Administration Guide for Cluster-Mode 

Correct Answer: D 

 

QUESTION 12

Which option of the snap restore command allows you to specify a different directory, as long as the directory already
exists? 

A. snap restore -c 

B. snap restore -d 

C. snap restore -r 

D. snap restore s 

Correct Answer: C 

 

QUESTION 13

What information is replicated across the SAN replicated database ring in Data ONTAP Cluster- Mode 8.1 and later? 

A. LUN data 

B. SCSI commands 

C. FC connection information 

D. Igroups, port sets, and LUN mappings 

Correct Answer: D 

 

QUESTION 14

Click the Exhibit button. 
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In the diagram shown, how should the zoning configuration be changed to better comply with NetApp best practices? 

A. four zones, each with one initiator, first two with the first target port and the second two with the second target port 

B. two zones, each with two initiators and one target port 

C. two zones, each with all four initiators and one target port 

D. four zones, each with one initiator and both target ports 

Correct Answer: D 

 

QUESTION 15

The quota resize command only affects existing /etc/quotas file target entries, not new quota entries. 

A. True 

B. False 

Correct Answer: A 
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